AW B DL

270 A5 237
9+ (-8) = (—2)+2=
(=6)* = (~10) = (=6)* +6=
(—4)* +1= 5+ (—4) =
(—10)+8 = (—4)* +(-3) =
(—2)° —7= 6% +(=7) =
(=7 = (-9) = 7+(-10) =
(=7)+(-10) = 3¥-(3)=
6’ —(~6) = (-10)° +(=5) =
52 —(-3) = (=7 —9=
9 +9= (-7 +2=
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Al RO EA
22X 1R AI(C5: A7
9+(-8) =1 (~2)+2=0

(6)° — (~10) = (-206)
(4 +1=17

(—10) + 8 = (-2)

(—2)° —7=(-15)
(=7 = (-9 = 58

(=7) +(=10) = (-17)
6> — (—6) = 222

5% —(-3)=128

9° +9 =738

(—6)° + 6= (-210)
5% +(—4) =21
(-4 +(-3)=13
6"+ (=7) = 29
7+(—10) = (-3)
3 -(-3)=12
(—10)* +(=5) = 95
(=7)° =9 =40

(~7)° +2=>51
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